/)/0 -

/0 002 - L/Z,g,z — 13439 Lr

7

(Bovewe! _br ﬁmé\%:)

—

e o020 (1,0 S;) 5 = /80 F/ e

I /) STTD '5"’}, L2 ;)g = /684 Ar
Lo 4306 | toocoo -+ (10 ) = // fpl 55, 902 |

T V6 o oy g
o § (108)° T /G298 %

- - ! fo.

e N - /9 2 788 4
- L 507 750004 ﬁa/r; o 00 008
S = (4,085 25000
— ) > o T 25ved
: l i‘/’,&csfﬁﬁi
SR = /582G by
e +5 000+/6626 =3/ 626 fr

o - / " t
— e (Svaret a s i”l‘;’lultézf )

L

- ) 9286 afj Al

s /

ST — 5 ;
— 9/ 626 - [/ £ JE :’,) Tt /-—/cavw A
o -9 | 6250 5026766 7
e = 132774 e




Skt G Gefd

2550 L o4l pp 0 20D

ya
y.
2L ;7/')//7’/',/':‘ N 4 T 2600

S0 (s

lote. !

— /L Cusar Sowes S (o | shitel  @v G/

¢

Nl 2855 L l xilwFesd ar Ar  JD

Aoviad

o mrinde

¥

[47-1)

/ /

N =]

)

- 2500 (404';0'/)

R SR

/,0% =7

XY //,,4292_4._4235”-:

e &

)

o, 0%

S0 0)S /é/‘

/?p_fzé' //n G erL =
o/




